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Total No. of Questions : 10] [Total No. of Pages : 03
B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2016
Third Year
SCIENCE & CIVILIZATION
Time : 12 Hours Maximum Marks: 50
SECTION - A

Answer any two of the following in sixty lines (2 x 13 = 26)

Q1) Explain the contribution of Pythogoras to the mathematics.
£5e38 TR @IHQS® PFHTR O DGO G953aLS HTLD.

02) Write the history, synthes and drug action of penicillin.
DYDS A0, OB, GBS OO FHREOBLE DHOOTTOs.

03) Explain the following

a) Insulin b) Cortisones
808 70 BD0T50k.
a) SISV b) ST

04) Write about the NPK fertilizers.
NPK 0th»os0 65508 HB00e508.

05) Explain bio-war
2855 QERY DHO0TOk.

06) Explain non-conventional energy sources with suitable examples.
DPODNCHBT B HHEOL HBHOOTSO.

SECTION - B B x4=12)

Answer any three of the following

Q7) Write short notes:

a) Camera
88

b)  Antiseptics
Doe31E

c)  Radium therapy
3&aHo DES

d)  Detergents
&eagoeSen

e) OTEC
OTEC

f) Green Revolution
53008 PHO

g)  Hybridization



DOBOES 0

h)  Gizah pyramid
Beze 25808

1) Compass
E0PD (BERD)

SECTION - C B x4=12)
Answer all Questions

08) Fill in the blanks
a)  Permissible Noise levels at sensitive areas

ROYBIOD DB TOS® HATDO TGS ) BSOTO eV

b) M.S. Swaminathan is associated with
D DO D QOTHS BOSF TVOGBRO DD

c)  Narcotic drugs meant for
BOBBOR0E Byween o3

d) DDT was discovered by
G563 DB éﬁ)ﬁam‘gd}

09) Choose the correct answer

a)  The Heart of the computer is
1)  Key board
i) CPU
1) Mouse
iv) Printer
i) 8y
i) CPU
i) &390
v) 20&b

b)  Naturally Occur Vitamin,
i) Vit-C
ii) Vit-A
iii) Vit—D
iv) Vit—B

) &S -
i) LS - D
i) &S - &
V) &S - &

c)  Fatsoluble vitamin
i) Vit-B



i) Vit-C

iii) Vit—A

iv) Vit—-A&D

1) &S - &

i) &S -

i) &S - D

V) RS - D svoasn &
d)  Which substance is used for blasting

1)  Rubber

i1)  Steel

i11) Nitrate

iv) Dynamite

D HECRY HVFEDS® GHITARD.

)
ii)
iii)

1v)

52086
[5)
S

D6k
§é§oe§

Q10)Match the following

a)
b)

©)
d)

a)
b)
c)
d)

Eutrophication
PV cells
Satellites

DDT
ORORLINESERVIS]
PV sotoseen
€330¢3338e0

GoCse3

++ +

Pesticide
Communication
Ponds

Solar energy
&D0DOTEE e

0TPTIRD FD0IPEID
ERTe SV IOb)
o5 B
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B.A. DEGREE EXAMINATION, DEC - 2016
Third Year

MATHEMATICS - 111

Rings and Linear Algebra
Time : 03 Hours

Maximum Marks : 80

SECTION-A

Answer all questions.
Each question carries 4 marks.

(8 x4=32)

Q1) Prove that a field has no zero divisors.
BB50DED Fo, 3BT B B TIREEHD.
02) IfR s an integral domain then prove that R[x] is an integral domain.
R 28 $pge08 5880 @00 R[X] Srwe pmos HBE500 <5reesi.
03) Express the vector a =(1,—2,5) as a linear combination of the vectors
er=(1,1,1),e,=(1,2,3)and e3=(2, -1, 1).
a=(1,-2,5, ee=(1,1,1),e;=(1, 2,3) 00050 3 =(2,-1,1) eonsd o
€1,62 , €3 DVOTO 2000 DOOTIOM 530IV.
04) Let U(F) and V(F) be two vector spaces and 7 :U — V' be a linear transformation,
than prove that Null space N(T) is a subspace of U(F).

U(F), V(F) e 8ot &&@008 cemoen. T :U =V &8 exver 058550, @owns U(F)
B G538 ©o50eE0 N(T) earosoeo @ <5rea)En.

5 3 14 4
05) Find the rank of the matrix A={0 1 2 1].
I -1 2 0
5 3 14 4
A=10 1 2 1| 5570855 8530 80G2:050.
I -1 2 0

3
06) Find the inverse of the matrix 4 = |:

2} by using Cayley — Hamilton theorem.

3
89 - SPROYS BDTR0TG GDABREOD A= |:

2} BRBBLH HS¥ETY B08%,08.



07) If a,p

are two vectors in an inner product space V(F) then

loc— I + e+ BT =2(|aef” +[18]).
28850 F 3 V a8 @osgerosoeto, o, f €V e@ansd
loc— I + e+ BT =2(|aef” +[18]).
08) Find a unit vector orthogonal to (4, 2, 3) in R*(R).
R*(R) &5 (4,2, 3) otmdes 00 080 S06°:050.

Q9) a)

b)

Q10)2)

if)

if)

i)

SECTION-B (4 x12=48)
Answer all questions.
FEach question carries 12 marks.

Prove that Q[\/E] = {a +bJ2/abe Q} is a field with respect to
ordinary addition and multiplication of numbers.

VoGS DOBOBBD, DLSUSHD )P, Q[\EJ = {a +b\2 /abe Q}
B850 O TWIRYHW.

State and prove the Division Algorithm in polynomial rings.
“grissIss HBHN” & HHDOD DERHOWOE.

OR
Prove that every Boolean ring is commutative.

o8 22029 ODA HOODHHN DO FOODHO B0 TITP)D.

If f(x)=2+3x+4x"+2x", g(x)=4+2x+3x" in Z[x] then find
D) degl/(x)+ g(x)]and

2)  deg[f(x)-g(x)]

Z[x]&5 f(x)=2+3x+4x" +2x7; g(x) =4+ 2x + 3x” en exseomesde0

9000
1) deg[f(x) + g(x)]so0ato
2)  deg[f(x) - g(x)] o 808508

Let W be a subspace of a finite dimensional vector space V(F) then
. [V . .

prove that dlm(Wj =dimV —dimW .

V(F) osos Doscosoego. W OJD  GIPOBTEO OB

dim(%j =dimV —dimW e <53e5»50.



b)

011)a)

i1) Let U(F) and V(F) are two finite dimensional vector spaces then

i)

UF)zV(F)< dimU =dim/V . Prove it.
U(F), V(F) o808 o055 deseosoemeoan, U(F) =V (F) seowedd
dimU =dimV o3& s s800m, Hoegswsue.

OR

Let V(F) be a vector space and W — V. The necessary and sufficient
conditions for W to be a subspace of V are

1) aeW,peW=a-LeW.
2) aeF,aeW =aaxeW

V(F) 28 Sawcosoego. W Ol o0 0385 008, V 8 W
©IP0BTE0 59550DE B8 OO (509,00 DI BHIT0, HOFGDHT0.

1) aeW,peW=a-LeW.
2) aeF,aeW =aaxeW

Let 7:V, >V, be defined by T(x,y)=(x+y,2x—y,7y) . Find
[T:B;, B,] where B; and B, are the standard bases of V, and V5.
T:V,->V, T(x,y)=(x+y,2x—-y,7y) @cns [T:B}, B,] &
B065°080. 85, B, By e0 8550 $d0ee0 esgreoeen.

1 -1 3 6
Reduce the matrix 4={1 3 -3 —4| to the normal form.
5 3 3 11
1 -1 3 6]
A=|1 3 3 4| £»8550 oo ERHOSS H650.
5 3 3 11
State_ Cayley - Ha;milton theorem. Verify this theorem for
2 1 2
A=|'5 3 3
-1 0 -2
2 1 2
8D - Se0dead duposotd HHDowdE. oo 4=|5 3 3
-1 0 2

DeHEL B8 ?oogom@ 0O TITeEEHR.

OR



b)

012)a)

b)

Find the eigen values and the corresponding eigen vectors of the matrix

6 -2 2]
A=-2 3 -1
2 -1 3]
(6 2 2]
A=|-2 3 -1 DRHBL DGO DevdHen  LHOAL  ODTORD
2 -1 3]
BB0ER00.

Show that the matrix 4= is a diagonalizable matrix and

S O W
S N A
EENE \S T ¢

find the diagonal matrix.

D BB A DEHADBT0 HOGO 0. HOOTD DEY HIRBBD BI0G0EBD.

State and prove Cauchy — Schwarz inequality.
888 - Do, 58 BVBRHSE0 DBV, DEFPDOTSOE.

The vectors «, f of a real inner product space V(F) are orthogonal iff
o+ I =" (18]

V(F) 28 o005 0080 @088 ©2Rpo80ego. o, f DOE0 @02 DEER0

it 85,5 Hoass oo o+ A =|af +|4] -
OR

In an inner product space V(F), prove that ||a + ,B”S ||05||+||,B|| for all
a,peV.

V(F) ®osgerosoegsin. @ans o, €V ©and ||a + ,B” < ||a|| + ||,B|| 1)
QB3HOTHDBWD.

Given {(2, 1, 3), (1, 2, 3), (1, 1, 1)} is a basis of R3, construct an
orthonormal basis.
RPe8 {(2, 1, 3), (1, 2, 3), (I, 1, 1)} escotsin @omd, &8 ©oeedeos

8250 Y0508,

EEE
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B.A. DEGREE EXAMINATION, DEC-2016
Third Year

MATHEMATICS -1V

Numerical Analysis
Time : 03 Hours Maximum Marks : 80

SECTION-A (8x4=32)

Answer all questions

All questions carry equal marks.

Q1) Evaluate
a)  A(e**log3x)

2

b) A[ al j DeVBOB Bx0E5,08.
cos2x

02) Show that A—V =6"°.
A=V =06’ $50508.

03) Given that

x 1 2 3 4 5 6
y 2 5 10 17 26 37
Find the value of V° Ve

3 DBESSD DenSeEd GHABPE0D V'), Dendi E5085,08.
) oIfy Y 6 &

04) Find the value of @, b, ¢ so that y=a+bx+cx’ is the best fit to the data.

53808 GSeeodSn Y =a+bx + cx’ E35088 $o8 a, b, ¢ Densersd B085,06.

X 0 1 2 3 4
y 1 0 3 10 21




05) a) Write Bessel’s interpolation formula.
BRG ©0BT S DITEOKD TPODOG.

b)  Write Stirling’s formula.
QOB 0BT ES KT TPOHOG.
1
06) Evaluate Icosx dx using & = 0.2 by Trapezoidal method.
0

|
h=0.2 oo &08°0 I COS X dX D05 eeRe00BES HEB ;0 (530TOR.
0

0Q7) Show that V = E7'A & <500s.

08) a) Write Boole’s and Weddle’s rules.
Boole’s svoaxo Weddle’s ®oshsins00m50 apaoho.
b)  Write Runge-Kutta fourth order formula?
0T - e weeni? HOHI DIBHVE A0

SECTION-B (4 x12=48)

Answer all questions.

Each question carries equal marks.

— .

Q9) a) ) Find a real root of the equation x’—2x—5=0 by using Newton-

Raphson method.

STRLS-0oRS DS oBAIRBoD X' —2x —5=0 DEHoSHLED B0, e
T BaTeerq) BBE5,08.

ii) Find a real root of the equation cosx =3x —1 by using iteration method
correct to three decimal places.

DJE KJCQS@ o 0° COSX = 3x—1 0333*5& ATV aVTEED  BOToOT
@gzﬁc‘ﬁme) BB PYBOM BDHR0&0.

OR
b) State and prove Newton’s formula for interpolation.

B35S @WOBT S KDIREBHKI NHBDOL DETRIOTDID.



010)a) 1) Evaluate f(x) using Taylor’s series for f'(x) if
f(x)=x-3x>+5x-10.

f(x)=x"=3x" +5x —10 ®ond, Hob FBO GHBRE0D [ (X) Hevsdo

i1) Find a real root of the equation xe* =1 using Ramanujan’s method.

xe' =1 o308, 28 YD PR CAHPDBO DEBD  SDBRAEOD

OR

b) 1) State and prove “TRAPEZOIDAL RULE”
32320085 DODHHRE DHDOD DERDOBO.

i1) Apply Newton’s divided difference formula to find the value of /(8), if /
(1)=3,/(3)=81,f(6)=223, (10)= 1011 f(11) = 1343.

B02488 De3s s D@ wodRdo, f(1) =3, f(3) =81, f(6) =223,
F(10)=1011 f(11) = 1343 evans,e f (8) Deosiso 885,08

by Simpson’s 3/8 Rule here n = 6.

2

6
Ql1)a) 1) Evaluate J.
o 1+x

- don= 6 S 1OKYS 3/8 H0rs5H0 wog0e Bx0885,08.

O odx
z[l+x

ii) Fita curve of the form y =ax” to the following data

X 1 2 3 4

¥ 3 12 21 35

D G5BIOFND WRgTR Y = ax” eso B0 To20€&0.

OR

b) 1) Solve the equations by using Gauss Elimination method



012)a)

b)

S5x—-y-2z=142;x-3y—z=-30;2x -y —-3z=-50.
=) DEBB55000:0 (TP SPOAOLY) éc@S@ T3R5 0?0 DR OTIEN.

i1) Solve the equations by Gauss-Jocobi method
20x+y—-2z=17;3x+20y —z=-18;2x -3y + 20z =25.

3 DEOBBEIBNOB (PR -2305° DB TR 00 FPROTID.

d
Given d_y =y —x with (0) =2 find »(0.1) and y(0.2) by R.K method when
X

h=0.2.

d
d—i = y— X000 1(0) =2 ©c0m RK 558 moyoe 1(0.1) svo0m 1(0.2)

o0 1 = 0.1 5 8508%,08.

OR

dt
i) Given d—=x3 +y with »(0) = I; find »(0.4) by Euler’s method
X

Taking h=0.1.

dt
h = 0.1 808 y(0.4) & scved HE8 oo0e, d—:x3 +y, ¥(0) =1
X

e—soaazﬁé‘scé) BO06200300.

i1) Using Picard’s method to obtain y for x = 0.1 &oo& 0.5 here # = 0.1 for

d
the differential equation d_y =1+ xy with y(0)= 1.
x

d—y:1+xy,y(0)= 1 @a0s y 0 x = 0.1 w08 0.5 555 h=0.1 5
X
g)saéj éc@S@ @R5 02 BBOGRRH0ED.

EEE
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B.A. DEGREE EXAMINATION, DECEMBER - 2016
Third Year
STATISTICS — III: APPLIED STATISTICS

Time : 3 Hours Maximum Marks: 80

01)

02)

03)

04)

05)

006)

SECTION-A (4x15=60)
Answer any four of the following

What are the types of Sampling techniques and explain.

What is a simple Random Sampling? Explain Sampling with
replacement and without replacement.

Explain ANOVA two — way classification.

Explain ANOVA one way classification.

Describe the analysis of Latin Square Design.

What are the advantages and disadvantages of RBD and its applications.

Explain control charts for variables.

Explain construction of np — chart.

Show that Fishers LN lies between Laspeyre’s and Paasche’s index
numbers.

Distinguish between aggregative type and average type index formula.

Discuss different measures of population growth.



07)

08)

9)

b)

Give discription of a complete life tables.

Explain the method of sample averages of computing the indices of seasonal

variations.

Describe models of a time series.

Discuss various Fertility rates.

Describe the uses of vital statistics.

SECTION- B

Answer the following Questions

Define Systematic Sampling.

What is meant by sample unit and sample frame?
Define ANOVA.

Define Treatment.

Define )_(

Abridged life tables.

Define Census.

What is analysis of time series.

Splicing.

Define index number.

(C22-0 0220

(10x2=20)
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B.A. DEGREE EXAMINATION, DECEMBER - 2016
Third Year
STATISTICS - IV: Ope. Res., Comp. Progra. & Nume. Analy.

Time : 3 Hours Maximum Marks: 80

SECTION-A

Answer any four questions. (4%x15=60)

Q1) a) Explain briefly allocation models.
b) Solve the following Transportation problem.

D, D, D, D
0,19 14 23 11711
0,15 16 12 21|13
0,30 25 16 39|19
b 6 10 12 15

02) a) Solve the following L.P.P. by simplex method.

Max z ="7x, +5x,
ST.C. x+2x, <6
4x, +3x, <12

and x, ,x, 20.

b)  Write an algorithm to Solve the L.P.P. by graphical method.

03) a) Solve the game whose payoff matrix is



04)

05)

Q06)

07)

08)

-1 -2 8
7 5 -1
6 0 12

b) Applications of Game theory and Explain it?

a) Explain card punching and reading paper.

b) Branching and looping GO TO.

a) Explain
1) STRT
i) MIDT
iii) LEFT
iv) VAL

b) What are the advantages of PERT / CPM?

Derive Lagranges inter polation formula.
a) Inter polate the population of 1946 given the following.
Year: 1911 1921 1931 1941 1951

Population in lakhs: 12 15 20 27 39

1.4
b) Find J. (Sin x—log, x+ e“‘) dx using Trapezoidal rule.
0.2

6
a) Evaluate I

o1+ x°

1
dx , using Simpson’s 3 rule.

1961

52



9)

b)

a)

g)
h)

)

Solve the following system of equations by Gauss seidel method.

27x+6y—z=85
6x+15y+2z="72
x+y+54z=110.

SECTION- B (10x2= 20)

Answer all Questions

Slack Variables.

Strategy.

Game theory.

Define two — person — zero sum game.
Interpolation.

Flow chart.

Write formula of Regula Falsi method.
Linear programming problem.
Assignment problem.

Sequencing problem.

GO
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B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
COMPUTER APPLICATIONS - 111
Report Generator

Time : 03 Hours Maximum Marks : 80

SECTION-A (3 x15=45)
Answer Any Three questions.

Q1) Explain the different features of Excel.

Excel caos, 98¢ 5550085 $e55:0 HBD0S0dk.

02) What do you know about rearrangement of worksheet.
BB, DB W WOES B0 HEI?

03) Explain about manual formatting and auto formatting.
Bo0gDS §238,63085 5000 €363 38,6305 HHOOD HHOOBO.

04) Explain the working of graphics in Excel?

Excel &8 5o 3o3:808°% e 5 Sarcdne HH00wosk.

05) What is the various types of relationships.
DO BES0BH DBO0 QD0 D3 ?

06) How can you add data in data forms?
Gerodrb, &° e e add Sdesw.

SECTION-B (5x5=25)

Answer any five questions.




Q7) Differentiate between absolute and relative reference?
g5 S0O0TD OBEIS ONBYY 5035 Hs0.

08) Write down the procedure to delete a part of worksheet.
DB, DB 5 81RO SPOB0TH HEBD FeaDOk.

09) How can you change the column width and row height.
) HEOVY DB B0OO0TV DEVE BEDVY BLEEYDOD DR FTLRERE.

010) What is the role of multiple worksheet.
S0YDS DU, HDBHNO G0, o HEE3?

Q11)How can you create add —in?

add —in e create <3eso.

Q12)What is the various parts of charts?
TG G308, gerreen DRI ?

Q13)What is the use of sub totals in database.
database & 5o e5 e55¢re0 G308, BHAITPHD.

SECTION-C (5x2=10)

Answer any five questions.

Q14)What is text notes?
6382, (S’Se%g

Q15)Move the cells.
Do o BLseed.

Q16)Hide row and column.

row sooo column e &0 oecieo.



Q17)What is data map?
Tego 30D @03 D3 ?

Q18)Define macro.
S08° DB sSO.

Q19)Example for sum( ) function.

sum( ) oo B> Grresrses.

020)Use of auto filter.
e3¢5 95 B, SDOTTCIH00.

EEE
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B.A. DEGREE EXAMINATION, DEC - 2016
Third Year
COMPUTER APPLICATIONS -1V
Data Base Applications
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SECTION — A
Answer any three of the following (3 x15=45)

Q1) Describe Databases and Tables with the help of an illustrations.
BB 50OOT 3220980 BLRSBEIO HIODOSS HBOOTIOs.

02) What are different types of Queries?
DD BEBSS GO0 D3 ?

03) What is report? How will you create it?
OEE BTPBR0? DR Deve KIP0DDED ?

04) Explain how relationship is created in MS-Access.
MS-Access &° o8TnSDHOR0 Do create 68 HHOOSOH.

05) Explain bounded and unbounded graphics?
23°0R& 50001 S SP0RE FedEeD HHOOTSOk.

06) Explain the difference between linking and importing?
DOB0E SO0 DINEIB OGS, ;DB HBOODHD.

SECTION-B
Answer any five Questions (5 x5=25)
07) Explain the environment for MS-Access.
MS-Access 63208, DSDTRR0E0 HBOO0TIOE.




08) How will you modify the form?
QR0 DeIe BHIEPEFOHDD ?

09) How can you edit the content of a table.
Table &5 €3 Gersd e HE T

Q10)What is multiple search criterion?
S0PV BYSSo0e @5 807

Q11)How will you print labels?
B0 der O TN ?

Q12)What are arithmetic operations in expressions?
DEDASS® 00 8HTEEY DO?

Q13)Explain how will you export data to excel?
Excel £ Gersio e oehsod darsmn.

SECTION - C

Answer any five of the following
Q14)What is global replacement?
58265 ORDOBOOED WBTRBED ?

Q15)What is dynaset?
BooRe5 @B BRO?

Q16)Primary key field.
€3S e 3807

Q17)What is lable design in Access?
Access &° Sed BS 5023807

(5 x2=10)



Q18)Define retrieving records from Query.
808 5008 5O Dere PRI DT DOTIOk.

Q19)Find and Replace.
P0G E0O0H0 OP®

Q20)Name wild card characters.
DS 5980 BT BODO.



